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SOFIEREE (TEEMR : REFREAEE L)

Bk ER SE
=HOH $150[BR O $150
FHOrtE $200/2£0O4 $100
BEOH $1,000)#H O $1,000
O $500[F O $250
RO $200|FE O $100
S OFifi $2,0001Z20 $1,000
EOF $500[7R O $300
EOxE $500[5=OEH $100
SO $2,000[F O $1,000
BO& $5.000)FEOALIZL $1,000
ZO1= $200[ 5= Offg $300
SOt $600[7R O $1,000
BROE $600[FEO $100
BROBE $1,2000FEO1E $100
FEOR $600[ = OFr $1,000
wHOX $500[FEOFE $1,000
AEOZE $1,000) B O $100
EAOLEES $100[F ORk $100
HOR $100)| £ OHk $150
FRO® $200[FRO%E $150
S O $200[BROZ $150
AEOFE $100[BR O $250
ZOH $100[FROFH $100
fiti OFI $100[BROHhE $100
FORZE $1,200| 52 OF $100
BROE $150[HO=82 $250
T O $100[HEOTE $100
H O $1,000)1 O=L $100
ZFOHE $250[40 O $100
FOfE $100|BO%h $100
RO $300[ & O $100
+OH $1,200( % O $100
BO= $20,000| 8 OZ% $100
BROH $100[fTOF $500
BROBY $100[F=O= $100
TOHk $150[FE O $100
PROZE $150[&O H $1,000
BROZZ $150[i= O $200
BROH $250[F=OF $100
BROFH $100FEO= $100
RO $100[FROF $100
FOF $100|FEO $100
BOB $100/5=OHD $500
fitt O 1 $100[FHOIM $100
fitt O>L $100[FROE $500
LO= $100|Z2O HE $100
O $100[#EO%E $100
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g O $100[m= O $100
g O/ $100[= O $200
qOE $100| O $800
= O $200| B O% $700
MO $100[#F O $100
#rOAE $5.000) 2 O $100
=EHOM $200|2£O% $500
PROZ $3.000|5F O $1,000
=0%F $3.000[FRO= $1,200
s O $20,000 R O#H $600
BROFE $10,000| B O 7 $500
BHOE R $1,200[# O $1,000
RO 2L $10,000[#ROZk $100
L0/ $5.000) &= OF $500
A O () $1,000{FR OB $500
PROF B, $5,0001Z2FOE $100
BROF R, $10,000{ =0+ $500
RO $400|HOFT $100
JBORE $300[#E O $100
EOIR $400| 21O $2,000
BROECT $1.000)B O $100
ARO $500[FROE $100
FZ O $100[BROIM $100
wOFRE $700[BROIMHf $100
HOR $1,000[AO E B $1,000
AIOHE $300[FR OB $100
=0% T $300[FR OB $100
=0% T $6,000|FIO & $100
HOLE $2,000{Z1O & $100
BROEETE $500|F O $100
= ORE $10,000{BRO B $100
HEOXL $600FR O &L $20,000
FZ O $100| = O#E $20,000
O $100[Z£O%) $10,000
W Osb $700[ T Of= $600
w O $600[#ZOE) $10,000
RO $5,000[#OF $1,200
=0 $5.000[FH O ) $1,000
HOZY $500[#FOF= $2,000
w O $1.200[# O $300,000
G OR $500[FEOH: $200
tROFT $1,600F Q& $400
ROFE $1.400)#H O $200
A Ot $1,000|E= O $5,000
SO $1,000] " OHA $600
O $500[fz O $200
HOB $2.000[ kO $500
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POMS $1.000)EEOFE $20,000
EOF $1.200[EOK $1,000
BORKL $3,000| 5 O%#, $250
BRO# $1,000) 5 O%#, $1,000
£ O $1.000[H:O>L $400
RO BAL $1.400) F7 OfF $200
BOXE $500[ EZ O $200
AOE $500 5= Ot $250
FEO $1,400[¥E O $100,000
FOHE $1.400[FOEFL $100,000
=HO® $1.400| O $300
SOk $1.400[FEO=F $3,000
=07t $500 O $250
i $10,000|E=OA $500
POZ $2,000[HO%E $1,000
BOLC $10,000] & OBH $100
BO=E $20,000|BOE $100
s O, $1,200) 5 OF& $200
=0O%H $1,000) i OF $100
BOE $2,000| EOFE $1,200
BO®E $2,000)BEOJF $150
BROFE $500/2£0O4 $100
#O $2.000[FH O $1,000
FHOrtE $200|F O $250
EOF $3.000[FE O $100
RO $1,500|5= O $300
FO% $10,000[7ROEF $100
MO $1,000) %Ot $300
EOK $12,500/B O $100
BOZ&% $10,000EO*E $100
JLOME $1,000) B O $100
BROH $20,000[FR Ok $100
Z O $1.200{EOHE $150
TO $600[FRO%E $150
B O $15,000(BR OZ $150
A O () $1,000]BE Ot $250
RO $1,200) B OF $100
JBORE $200[BR O $100
EOIR $400[ 52 OF $100
i O B $200[OF=82 $250
SOt $2,800) i O $100
SOt $4.800) i O=L $100
SOt $2,000)4&2 O $100
ROz $1,000{50CO %) $100
BOTE $10,000] & O $100
HOF5 $5.000] % O# $100
FZ O $300[ O $100
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KOEIE $1,000| 0= $100
RO#RER $1,000)FEO% $100
BROSL $2,000|5 O $200
TOEE $2,000FEOF $100
RO $1.000[FE O $100
BEO% $500[FROF $100
BROEETR $500[F= O $100
w=OR $1,000]#H OZE $500
HEOX $400| = Olige $200
FZOf5 $300| = Ok & $36,000
O $300[#iO B $600
SO $12,500|FO= $1,000
LOE $1,000|F O $3,000
BRO# $1,000[#OFE $6,000
POIE $5.000) B O& $600
ZOR $2,500)FEOpk $600
AEOE $250 [ O $600
wHOX $500[ER OF $125
AEOE $1,000) 5Ol $600
EAOLEES $100[E= O $200
ZOR $100[ O $600
FRO®E $200(Z Ot $500
S O $200[FEOE $600
HEOM $100[FEO= $1,000
FORE $100|PROFE $1,000
i OF $100|PECOE $5,000
PROE $150[FHOIM $100
T O $100|Z2O HE $200
£0 $100[#EOE $600
H O $1,000|E= 0% $600
BROLL $600[E= O%x $100
FEOH $100| O $800
FOfE $100[E OZ> $700
RO $300[#FORd $100
BOB&T $14,410[BROZ $100
BOB&T $54,009| HOFF $100
BOB&T $76,408 [ O#F $100
BROH $100FR O $100
BRORL $100[FR O $100
TOHk $150[ IR $3,600
PROZE $150[FF ORI D $25,000
BROZZ $150[5= Ok $25,000
BROFH $100[ZF Ok $2,000
RO $100|H O D $1,000
RO $100| EFOFEE $2,000
AEOFE $250| T Ot $2,000
fi OTE $100|H# O $600
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fitt O=L $100[E= O Rd $600
LO= $100[2£OF $2,000
O $100)5=O L $1,200
g O $100[FHOE $2,000
O $100[ =0T $100
gOE $100|E= O $2,000
BEOH $30,000[£5Of+: $200
TOF $100[ER O $600
FEOF $100[5OEE $50,000
TOFE $600[E= O1& $500
BROZL $600[HEOHZ $1,000
BROE $600 O $250
BROTE $600[F=OX $500
BO== $600[HOF $1,000
BROE $600[ & OB $100
=HON $200[ OB $100
MO $100| = O $200
O $100(% OF $100
ZO $100)HEO4L $1,200
BROE $100[BROF $150
FEOZE $100/2£04 $100
PO $5.000)#H O $1,000
LOSTE $5.000|F O $250
HOEEE1) $5,400|7ROE $1,200
EHOEHD $15,400|HOFFE $5,000
2 O P $1,000,000{FFOLL $100
BROAN $300[HE O $100
s O $2,000) BE O $1,000
SOt $1,200)5£O% $300
SOt $1,200| O $300
SOt $700[FEOFEE T $100.,000
SOt $1.000[5ROE=F $100
SOt $3,500) 5% Ot $300
ZFOt" $3,000]BEO $100
O $1,0000EOH $100
BROMH#S $1,000|EHOFT $100
TOfE $1,000) B O $100
OB $1.000[FROBK $100
TO== $1,000) Ok $150
TOE $1,000) B O % $150
O $5.000) B O $150
i OHE $5.000]BE Ot $250
=10 $5.000) B OF5 $100
ROE $5.000) B O3 $100
FOER $10,000|5: OF $100
w16 $1.000);EOF52 $250
TOE $1,500] 1 O $100
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TO%& $1,500) 1 O=L $100
BOZ $500[40O= $100
EEO/ $100,000{55 O &)y $100
EOL $100,000| & Of# $100
=0% T $1,000) % O $100
FAOE $25,000| 8 OF $100
O $25,000|# O+ $100
MO $300[EHOH $100
HOHE $600[EHO #h $100
HOZE $9.000| £O= $100
=EOBEE $1,000)FEO% $100
HO& $250[ £ O%E $100
wHOX $500[R OIX $100
FEORL $600[FROF $100
HEOFE $1,000{FEO1E $100
EAOLEES $100[21OF= $100
HOR $100|PBEOEE $100
i OF $100|=OIX $200
FOLT $1.200[FEOF $100
BROE $150FE O $100
£0 $100[BROF $100
H O $1,000)FEO% $100
FOE $500[ =0+ $1,000
RO $1,200| =05+ $2,000
FEOH $100[FHOZ¥ $500
PROST $1,000|12FO1= $200
RO $300[&k O1E $5,000
BEOHE $1,000)ZO $500
BROH $100[5R O $5.000
BRORL $100[FEEOfEHD $30,000
FOHE $150[HO $250
PROZE $150[F=OX $500
BROZZ $150[FRO Je $1,600
BROH $500[E 0= $500
RO $100[#OF $1,000
RO $100| & OBH $100
FOH $100[EOE $100
AEOFEH $250|F ORE $400
fiti O 1 $100(%i OF $100
fitt O>L $100[BROF $150
LO= $100/2£0O4 $100
O $100|H O $1,000
g O $100|F O $250
g OB $100[FR O $100
2O= $100[HE O $100
=0%F $10,000| FOE $400
TOF $100[E O $1,000
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FEOF $100[FROZ $5,000
FEOH $100[7RO¥ $300
ZO® $100[FEO= $2,000
BROE $100[5OEH $300
FEOFE $100[ROF $100
H#HO $300[ 2 Offg $300
#ROAE $5.000) 7 O%E $5,000
ZOW $30.000|2£O H % $100
RO T $8,450| = Ok $100
=S OB $2,000)BEO $100
RO $100[EOTE $100
gTO $50,000[EHOFT $100
BROBE $100[BROZ $100
BO&E $100[BROE $100
BRO B $100[F ORk $100
M E S $10,000{ £ Ok $150
FOt% $20,000) s O % $150
£0% $10,000| B OZ $150
A O () $1,000]BR Ot $250
BIO7Hk $1,200) B OF5 $100
FROFEEL $20,000| s O%je $100
210 $5.000|H OF $100
B=OE $5.000);EOF52 $250
\O): | $10,000 O it $100
O $1,200]1 O=L $100
MO $6.000|4&2 O $100
=0% T $200[B3O %) $100
SO $1,200) % Of# $100
2O $1,200( % O $100
BOHTT $5.000| 8 OF $100
WO $500[t O+ $100
=0% T $2,000[EH O $100
ZORE $20,000[EHO$ $100
+OE $10,000| £O== $100
NOES $10,000)F= O $100
BOZE $1.000{EOH $5,000
FO&E $500| EO=E $100
A $30,000| B OFL $100
AEOE $250[FROF $100
wHOX $500[f Ot $100
HEOFE $1.000[Z1O= $100
EAOLEES $100[BR Of $100
ZOR $100[F=OF $100
FRO®E $400[FE O $100
S O $400[FROF $100
AEOFE $200[H=O%F $100
fiti OF $100[fR O $100
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BROE $150 B O $100
T O $200f O $100
£0 $100) £ O3 $400
H O $1,000| EOE $400
ZFOHE $250[FOF& $400
FEOH $100| EO#% $400
ZOfE $200[ = O $200
RO $300|FHOJMN $100
SOt $300[= O $200
RO $1,000[# OB $100
HOHE $500[= ORI $1,500
BROH $100|HOT $100
BROBY $100)5OFE $100
TOHk $150[t5 Ok $300
PROZE $150F OF5 A, $100,000
BROZZ $150[ZFOH: $10,000
BROH $250[FEO % $500
BROFH $100[ RO $500
RO $100[BE OHEAHD $20,000
FOH $100[ZF Ok $500
AEOFEH $250|H O D) $1,000
fiE OTE $100|H O D $1,000
fitt O>L $100[fAIOFEE $500
LO= $100[m= O%k $500
O $100[#AOHH $500
g O $100[FEOH: $200
g O/ $100[F O $400
2OZ $100[FH OB $200
TOF $100| 52 O $200
FEOF $100| 5= OFR%k $10,000
=HON $400[BR Ot $500
MO $200[HO % $500
FEOH $100/2OF5 $500
FOK $100|%=OF $500
BROE $100[ = O $600
FEOZE $100|ROFd $600
ZO1= $200[ EOP]F5 $500
FOZ= $500] & O 5 5% $500
BRO#K $1,000(H OB $5,400
FOf $500[H=O=L $400
EOX $1,000) E7 OfF $200
BRON $1,000) FZ O $200
MHOEEE $6.000|EO== $200
EO $510[# O $10,000
BRO $2,000|5£OH $1,000
TOFE $2,000)2F O $1,000
FOHE $2.,000{ PR =F $50,000
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SIS $10,000|#FO1E $6,000
MHOZ $2,00012 0% $3,000
HOY] $500[ZO $500
HO3E $500 O $250
ZFOt" $1,000)EOX $500
=0 $15,000)HO%E $1,000
FOF8 $1,000) & OBHF $100
BRO#H $500[ O E $100
£Z0O% $500| = O $200
BOHE $200,000[;H=OH $500
BROTE $400,000] i OF $100
e OS5 $1,000)BE O $150
A O () $1.000[2£OFH $100
i ORE $5.000[FH O $1,000
PROF B, $10,000[ZF O $250
£0i% $1,200) B OLL $100
TOEE $2,000) O $100
FORH $1,200)5£O% $300
ZOR $600[5=OEH $300
FOhs $1.200{ 5Ot $300
BROF $600[FEO $100
MO = $1,000/EOTR $100
20X $5.000|EHOFT $100
MO $10,000[BAOA $300
MOE $40,170| &= O (0 $200
2 OB i ({0 $5.000]) B O $100
#MOIE $3,000[FR OFk $100
= O $3,000) Ok $150
BROT $1,200) B O % $150
#O $1,200| B O $150
ZFOzE $9.000]BE Ot $250
ORI $10,000) s O #5 $100
HOR $2,500) BE O3 $100
ZO% $10,000| 52 OF $100
O $5.000);EOF52 $250
s Off $1,000) i O $100
= @)is $5.000] 1 O=L $100
EO5E $3.000)4&2 O $100
PROB $1,200{50O %) $100
BROIA $1,200) % Of# $100
£ZOE, $1,200) % Of $100
£Z0H $1,200| O£k $100
EROLL $1.200|180OF $100
HROE $1.200[EHO4H $100
OB $1.200|EHOF $100
FOE $1.200| £O=F $100
+O $1,200[FO*% $100
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BEO7 $1,200| O $100
F O $1,200{FEOIL $100
HOF $10,000|F OF $100
SOt $300[fR Ot $100
ROk $1,000[F1OF $100
MO $300 R Of $100
FO% $5.000|E O $200
£Z0% $4.000| PO $500
WO $500[F=OF $100
EHOLE $1.000[FE O $100
RO $100[FROF $100
RO $100[F=O% $100
ZOR, $1,000| TTAEFEE ST $500,000
BEO= $100,000]F5O&x $10,000
HO% $5,000{E=O1H $500
BROBE $100[5OCFEA $300
BROBE $100[ OB $20,000
BIOH $100[HORE $24,254
BOH $100|ZF O $10,000
BRO B $100| t e B SR AR E] $300,000
PBROB $100[H: O $250
ZFOZE $3,000) 5O $500
= OfIE $1.000[HO%E $1,000
A O () $1,000) 8 OBHF $100
BROF B, $10,000|BOE $100
RO $1,200fit O $100
JBORE $300FR OF $150
IO $800/2£O4 $100
i O B $400[FHOZE $1.000
FZ O $400|F O $250
O 5 $5.000) B OLLI $100
FROE $10,000[FE O $100
RO 8L $2,500|5= O $300
HORE $3.000[5RO&=F $300
L O $2,000) 5 Ot $300
RO¥% $2,550|BEO $100
= OfE $1,000pEOTE $100
AEOSL $600[EHOFT $100
FZOfR $400] &= O (0 $200
RO $400 R O $100
RO% $2,600[FR OFk $100
RO $2,600) £ Ok $150
#rOAE $5.000) B O % $150
AEOE $250[BROZ $150
wHOX $500[BR O $250
FHOrtE $200[FROFH $100
AEOZE $1,000] B O3 $100
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EAOLEES $100|HOF $100
ZOR $100[HO==82 $250
FRO®E $200[HEOTE $100
S O $200[EOL $100
AEOFE $100[s0O= $100
fi OF $100|BO%h $100
BROE $150[ = O $100
T O $100[ 2 OB $100
BROZ $5.000| 8 OF $100
£0 $100[tO+F- $100
H O $1,000|EHOE $100
ZFOHE $250[FHO#h $100
=OA6 $500[F=O= $100
FEOH $100[FEO $100
FOfE $100[ £ O $100
RO $300[FROIX $100
SOt $300[FROF $100
RO $1,000) B Ofe $100
BEO=x $1,200[F1OF $100
HOM $100[BR Of $100
s O $1.2001FEOF $100
s O $1.200[FE O $100
iTOHF $1,200|BROF $100
BFROZE $100[F=O% $100
FROE $1.000{BBOE $1,000
FEO# $1,000[FEOF $100
HORE $100|FHOJMN $100
O $100|Z2O HE $200
£ZOHK $100[E= O $200
O $100|E=OF $1,000
=0 $100[BROZ $200
s O $100|HOT $100
= OKE $100[fR O $200
S OPATf $100 B O $200
RO $5.000) B O $200
PR Ok $5,000| &£ O1E $5,000
BROZR $5.000)ZO $500
$2O% $10,000)|HO%E $1,000
HORE $1,000[FEEOEE) $20,000
BOE $1,000,000{ =0 $500
FOFHE $200[/HOF $1,000
BROME $100[FHOIM $100
BROBY $100|550O%K $10,000
FO#Hk $150| EHOTFF $100
PROZE $150)5OFE $100
BROZZ $150]5FO E (0 $3.000
BROH $250]F Oy $10,000
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RO $100|BEOZZEHD $14,600
RO $100|H O D) $1,000
FHOF $100|E=OFE $2,000
AEOFES $250| B OB (0 $500.,000
fitt O 1 $100| EFOFEE $2,000
fit O3L $100[¥OH $500,000
LO= $100[HEO % $5.000
O $100|5=0 $5,000
g O $100[fRO= $5.000
O $100|FE O $24,000
gOE $100[H: O $250
FOXE $100[F=OX $500
+O=F $100[}OF $1,000
FEO $100[ & OB $100
=HON $200[ O E $100
MO $100| = O $400
FEOH $100[HEOFE $200
ZO® $100(% OF $100
BROE $100[BROF $150
FEOZE $100/2£0O4 $100
HOF $100[FHOZE $1,000
w=OR $500|F O $250
B O $800[FR Ol $100
BO5 $700[HE O $100
BROZ $500[7R O $300
BRO#E $500[5=OEH $300
BROIA $500[ = Otfg $300
RO $500[FEO $100
=0% T $1,500/EOtR $100
BEO $500[EH O $100
ek O <5 o $1,200) &= O (#0) $200
FOH $1,200) B O $100
HORE $100,000]F OR $100
FR O $1.200{EOHE $150
O $100[FRO%E $150
H#HO $1,000| B O $150
PO $100[BR O $250
E= ORI $100[FROFH $100
e OBk $100[BROHE $100
w07 $100|HOF $100
=0 $100[HO=82 $250
BROJEL $1,000) i O $100
SO $10,000 /it O $100
= O, $120,000{4CO% $100
O $50,000| 68O &) $100
BOZ= $1,000) % Of# $100
BEO $100[ OB $100
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EOHE $100[ 2 OF $100
T ORAER $1.200|18OF $100
BROZR $1.200[EHO4H $100
ROZ $10,000[{EHO#4 $100
H O (D) $1,000| £O=F $100
HORKE $1,000)FEO% $100
i O $3,000| O $100
BROF B, $1,200{FROIL $100
JBOHE $10,000|F OF $100
HORE $2,000{FEO1E $100
BEOH $1.000[Z1O= $100
#HEOAG $2,000|PEOFE $100
OB $10,000[i= O $400
EOHE $1.200(HROF $200
i O $1.200[FEOF $100
#Ofm $600[FE O $100
TO=E $1.200|BROF $100
OFH $1.200|FE O $100
HEOHE $1.200[EE O $1,200
HEO%m $1.2002 0O $500
PO $1,200[FHOJM $100
HOF $1.200[2£0 H# $100
ZOZ $1.200[=Ok $100
FROHE $1,200| B O $100
HO%H $1,200[3EO1E $100
BIOFE $1.200{E O $100
PO $1.200EOFH $100
HOZR $10,000[#OzH $100
s OFF $1,000)3O% $100
BO# $1.200[OF $100
FOH $1,200[FHOF- $100
TROBN $1,200|FRO#F $100
RO $1,200( P O, $100
FO¥ $1.000[FROA= $100
PROE#K $1,200{#FOH $2,250
RO & $1,200|1 0% $2,250
BROEXY $1,200|FOfE $100,000
O $200[O40 $10,000
EO $500| =05+ $6.,780
ROl $200[E OHBH $10,000
HO& $250)| = OF- $13,000
wEHOX $500[ZFOH], $3,000
SO $200|PROF $1,000
AEOE $1,000{=OF $500
g OB $100[ =0+ $1,400
HOR $100 | & e+ $1,000
O $200%t OF $100




MEVEANSBTLIDFETEENESE
SOFFEEBYE (B « BEFEX NEETO)
241 PR AH it i L
/NET $4,608,767 /NET $3,405,009

=t $8,013,776




